
200 x 200 mm
Part # 12-200-10

KEY
1 Post
2 Air Post
3 Base
4 Top
5 Pad
6 Top Seal
7 Bottom Seal
8 O-Ring
9 8 mm X 1/8" BSP Straight

10 M10 X 25 mm Flat Head
11 M10 X 25 FH Vented
12 M10 X 30 mm Top Screw Vented
13 M10 X 30 mm Top Screw

10
11

7

3

9

2 1

8

4

6

5

13
12

BLICK INDUSTRIES
Anatomy of a Suction Cup
200 x 200 mm
Part # 12-200-10

www.blickindustries.com
Proudly Made in Laguna Beach, CA, U.S.A.


